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<p>ARFETEX, FIESEEMTURZRERZTHEAERENEIFTE—EITREERRS, LS
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IEREERRHUERE! </p>

<h3 id="—-1TERTRIHEER">— TR TRIHEER </h3>
<h4 id="ERENZIT" > BURLEEIRIT </hd >

<table>

<thead>

<tr>

<th>=Eg</th>

<th>Z&8</th>

<th> &< /th>

<th>#Ax</th>

<th>FIX5.0</th>

</tr>

</thead>

<tbody>

<tr>

<td>orderID</td>

<td>String</td>

<td>Y</td>

<td>HBEIDREFERZTRENE—ERE, TETIHTRER, BREUEROHILARS ID At</t
>

<td>37</td>

</tr>

<tr>

<td>userID</td>

<td>String</td>

<td>Y</td>

<td>ZITEFTEAF </td>

<td></td>

</tr>

<tr>

<td>tradingAccountID</td >

<td>String</td>

<td>Y</td>

<td>IZITEFTEAFIRZ WK </td>

<td></td>

</tr>

<tr>

<td>clOrdID</td>

<td>String</td>

<td>Y</td>

<td> EiiFER TRIEKRPHE—ETKS </td>

<td>11</td>

</tr>

<tr>

<td>transactTime</td>

<td>datetime</td>

<td>Y</td>

<td> T ERFRPPEFZIEATE </td>

<td>60</td>

</tr>
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<tr>
<td>securitylD</td >
<td>String</td>
<td>Y</td>
<td>UEHE8 </td >
<td>48</td>

</tr>

<tr>
<td>securitylDSource</td>
<td>String</td>
<td>Y</td>
<td>IESAESEBMAARD: 4-ISIN,101- L3R, 102-3R32Fh......</td >
<td>22</td>

</tr>

<tr>
<td>symbol</td>
<td>String</td>
<td>Y</td>
<td>UEEFFR</td>
<td>55</td>

</tr>

<tr>
<td>securityExchange</td>
<td>String</td>
<td>Y</td>
<td>RZFFAAS </td >
<td>207</td>
</tr>

<tr>

<td>side</td>
<td>String</td>
<td>Y</td>
<td>3LEHME: BUY-1-Fik, SELL-2-Fik</td>
<td>54</td>

</tr>

<tr>
<td>orderQty</td>
<td>double</td>
<td>Y</td>
<td>ZFIEHE </td>
<td>38</td>

</tr>

<tr>
<td>price</td>
<td>double</td>
<td>Y</td>
<td>FHEMN1g</td>
<td>44</td>

</tr>

<tr>
<td>tradeDate</td>
<td>String</td>
<td>Y</td>
<td>ZZZHEA</td>
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<td>75</td>

</tr>

<tr>
<td>cumQty</td>
<td>double</td>
<td>Y</td>

<td> R EE </td>
<td>14</td>

</tr>

<tr>

<td>avgPx</td>
<td>double</td>
<td>Y</td>
<td>FIYpEa it </td>
<td>6</td>

</tr>

<tr>
<td>grossTradeAmt</td>
<td>double</td>
<td>Y</td>

<td> R EEN</td>
<td>381</td>

</tr>

<tr>

<td>cxIQty</td>
<td>double</td>
<td>Y</td>
<td>EEkEE </td>
<td>84</td>

</tr>

<tr>
<td>leavesQty</td>
<td>double</td>
<td>Y</td>
<td>TEEEE</td>
<td>151</td>

</tr>

<tr>
<td>ordStatus</td>
<td>String</td>
<td>Y</td>
<td>iTERZS: A-PendingNew, 0-New. 1-PartiallyFilled
ncel; 4-Cancelled</td>
<td>39</td>

</tr>

<tr>
<td>ordRejReason</td>
<td>String</td>
<td>N</td>
<td>1TER$RB[RE : 102-IE5ERE......</td>
<td>103</td>

</tr>

<tr>

<td>text</td>

. 2-Filled; 8-Rejected; 6-PendingC
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<td>String</td>
<td>N</td>
<td>NA</td>
<td>58</td>

</tr>

<tr>
<td>exchangeOrdID</td>
<td>String</td>
<td>N</td>

<td> TR BAHNTRRS ID</td>
<td></td>

</tr>

<tr>
<td>currentNodelD</td>
<td>String</td>
<td>Y</td>

<td>ZICRFIBRIRZ RS TR ID R for 5zl </td>

<td></td>

</tr>

<tr>
<td>createdAt</td>
<td>datetime</td>
<td>Y</td>
<td>BlIEEAT[E) </td >
<td></td>

</tr>

<tr>
<td>refStrTag1</td>
<td>String</td>
<td>N</td>

<td>¥ & Str ==E& 1</td>
<td></td>

</tr>

<tr>
<td>refStrTag2</td>
<td>String</td>
<td>N</td>

<td>¥ & Str £Eg 2</td>
<td></td>

</tr>

<tr>
<td>refStrTag3</td>
<td>String</td>
<td>N</td>

<td>¥ & Str £Eg 3</td>
<td></td>

</tr>

<tr>
<td>refDoubleTag1</td>
<td>double</td>
<td>N</td>

<td>¥ k& Double =E& 1</td>
<td></td>

</tr>
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<tr>

<td>refDoubleTag2</td>

<td>double</td>

<td>N</td>

<td>¥ k& Double =E& 2</td>

<td></td>

</tr>

</tbody>

</table>

<p>ME—=F5E: orderID<br>

H—MZR5|: tradingAccountID + clOrdID</p>

<h4 id="UERXEE1T/9" > TR KT </hd>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> boolean checkStatus(Action action) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> switch (action
getExecType()) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> case Pendi
gNew:
</span></span><span class="highlight-line"> <span class="highlight-cl"> return

etOrdStatus() == OrdStatus.PendingNew;

</span></span><span class="highlight-line"> <span class="highlight-cl"> case New:
</span></span><span class="highlight-line"> <span class="highlight-cl" return
etOrdStatus() == OrdStatus.PendingNew || getOrdStatus() == OrdStatus.PendingCancel;

\Y

</span> </span><span class="highlight-line"> <span class="highlight-cl"> case Trade:
</span></span><span class="highlight-line"> <span class="highlight-cl"> case Pendi
gCancel:

</span></span><span class="highlight-line"> <span class="highlight-cl"> case Cance
led:

</span></span><span class="highlight-line"> <span class="highlight-cl|"> return g

tOrdStatus() == OrdStatus.PendingNew || getOrdStatus() == OrdStatus.New || getOrdStatus()
== OrdStatus.PartiallyFilled || getOrdStatus() == OrdStatus.PendingCancel;

</span></span><span class="highlight-line"> <span class="highlight-cl"> case Rejec
ed:
</span></span><span class="highlight-line"> <span class="highlight-cl"> return g

tOrdStatus() == OrdStatus.PendingNew || getOrdStatus() == OrdStatus.New || getOrdStatus()
== OrdStatus.PendingCancel;

</span></span><span class="highlight-line"> <span class="highlight-cl"> case Cance
Rejected:
</span></span><span class="highlight-line"> <span class="highlight-cl"> return g

tOrdStatus() == OrdStatus.PendingCancel;

</span></span><span class="highlight-line"> <span class="highlight-cl|"> default:
</span> </span><span class="highlight-line"> <span class="highlight-cl"> LOGGER
warn("no switch case to check this action = {}", action);

</span></span><span class="highlight-line"> <span class="highlight-cl"> return fa
se;

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"><span class="highlight-c|">
</span></span><span class="highlight-line"> <span class="highlight-cl"> void apply(Acti
n action) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> switch (action
getExecType()) {

</span></span><span class="highlight-line"> <span class="highlight-cl|"> case Pendi

gNew:
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</span></span><span class="highlight-line"

atus(OrdStatus.PendingNew);

</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

atus(OrdStatus.New);

</span></span><span class="highlight-line"

sQty(getOrderQty());

</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

ty(getCumQty() + action.getLastQty());

</span></span><span class="highlight-line"

><span class="
><span class="
><span class="
><span class="
><span class="
><span class="
><span class="
><span class="

><span class="

sQty(getOrderQty() - getCumQty() - getCxIQty());

</span></span><span class="highlight-line"

><span class="

highlight-cl"
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl"
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl"

highlight-cl”

mount(getCumAmount() + action.getLastQty() * action.getLastPx());

</span></span><span class="highlight-line"

AvgPx();

</span></span><span class="highlight-line"

alUtil.isZero(getOrderQty() - getCumQty())) {

</span></span><span class="highlight-line"

Status(OrdStatus.Filled);

</span></span><span class="highlight-line"

DecimalUtil.isZero(getLeavesQty())) {

</span></span><span class="highlight-line"

Status(OrdStatus.Cancelled);

</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

Status.PendingCancel != getOrdStatus()) {

</span></span><span class="highlight-line"

OrdStatus(OrdStatus.PartiallyFilled);

</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

ed:

</span></span><span class="highlight-line"

atus(OrdStatus.Rejected);

</span></span><span class="highlight-line"

sQty(0.0d);

</span></span><span class="highlight-line"

edReason(action.getRejectedReason());

</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

gCancel:

</span></span><span class="highlight-line"

atus(OrdStatus.PendingCancel);

</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

led:

</span></span><span class="highlight-line"

(getCxIQty() + action.getCxIQty());

</span></span><span class="highlight-line"

><span class="
><span class="
><span class="
><span class="
><span class="

><span class="
><span class="

><span class="
><span class="
><span class="
><span class="
><span class="
><span class="
><span class="

><span class="

><span class="
><span class="

><span class="

><span class="
><span class="

><span class="

><span class="

sQty(getOrderQty() - getCumQty() - getCxIQty());

highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”

highlight-cl”
highlight-cl”

highlight-cl”
highlight-cl"
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”

highlight-cl"
highlight-cl"

highlight-cl”

highlight-cl”
highlight-cl”

highlight-cl”
highlight-cl”

\Y

V V.V V

setOrdS
break;
case New:
setOrdS
setLeav
break;
case Trade:
setCum
setLeav
setCum
comput
if (Deci
setOr
} else if

setOr

} else {
if (Or

se

}

}
break;

case Rejec
setOrdS
setLeav
setRejec

break;
case Pendi

setOrdS

break;
case Cance

setCxIQt

setLeav
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</span></span><span class="highlight-line"> <span class="highlight-cl"> if (Deci
alUtil.isZero(getLeavesQty())) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> setOr
Status(OrdStatus.Cancelled);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span> </span><span class="highlight-line"> <span class="highlight-cl"> break;
</span></span><span class="highlight-line"> <span class="highlight-cl"> case Cance
Rejected:

</span></span><span class="highlight-line"> <span class="highlight-cl"> if (getC
mQty() &lt; ConstDefine.TradeManage.XConst.nearlyZero) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> setOr
Status(OrdStatus.New);

</span></span><span class="highlight-line"> <span class="highlight-cl"> } else {
</span></span><span class="highlight-line"> <span class="highlight-cl"> if (Dec
malUtil.isZero(getOrderQty() - getCumQty())) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> se
OrdStatus(OrdStatus.Filled);

</span> </span><span class="highlight-line"> <span class="highlight-cl"> } else
</span></span><span class="highlight-line"> <span class="highlight-cl"> se

OrdStatus(OrdStatus.PartiallyFilled);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span> </span><span class="highlight-line"> <span class="highlight-cl"> break;
</span></span><span class="highlight-line"> <span class="highlight-cl"> default:
</span></span><span class="highlight-line"> <span class="highlight-cl"> LOGGER
warn("no switch case to apply this action = {}", action);

</span></span><span class="highlight-line"> <span class="highlight-cl"> break;
</span></span><span class="highlight-line"> <span class="highlight-cl|"> }
</span></span><span class="highlight-line"><span class="highlight-cl">

</span></span><span class="highlight-line" > <span class="highlight-cl"> LOGGER.info(
applied by actionType={} after result ordStatus={}, orderID={}", action.getExecType(), getOrdS
atus(), getOrderlID());

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"

</span></span> <span class="highlight-line"> <span class="highlight-cI"> boolean compl
te() {

</span></span><span class="highlight-line"> <span class="highlight-cl"> return (Deci
alUtil.isZero(getOrderQty() - getCumQty() - getCxIQty())) || getOrdStatus().equals(OrdStatus.Re
ected);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span></code> </pre>

<h3 id=""-TTEREREWREEL" > — 1R EREEERE </h3>

<h4 id="$UEEMNRIT-" > BIREEIR T < /h4>

<table>

<thead>

<tr>

<th>ZFRR</th>

<th>2£8Y</th>

<th>wiE</th>

<th>¥giA</th>

<th>FIX5.0</th>

</tr>

</thead>

vV V
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<tbody>

<tr>

<td>cxIOrderID</td>
<td>String</td>

<td>Y</td>

<td> HEIPRARFRENIZFRICRAIE—F R </td>
<td></td>

</tr>

<tr>

<td>userID</td>
<td>String</td>

<td>Y</td>

<td>1ZMEERF if from order</td>
<td></td>

</tr>

<tr>

<td>tradingAccountID</td>
<td>String</td>

<td>Y</td>
<td>ZHBEREAFPIRZ K, 7L from order</td>
<td></td>

</tr>

<tr>

<td>clOrdID</td>
<td>String</td>

<td>Y</td>
<td>HEIERPHE—FTRKS </td>
<td>11</td>

</tr>

<tr>

<td>origCIOrdID </td >
<td>String</td>

<td>Y</td>

<td>HERIERII AT RN E—E RS </td>
<td>41</td>

</tr>

<tr>

<td>orderID</td>
<td>String</td>

<td>Y</td>
<td>HERIERII A FRITEATE ID</td>
<td>37</td>

</tr>

<tr>

<td>tradeDate</td>
<td>String</td>

<td>Y</td>

<td>RZHEA</td>

<td>75</td>

</tr>

<tr>

<td>exchangeOrdID</td>
<td>String</td>

<td>N</td>
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<td>HERIERIIMARITEAN TRFRRZ AT ESRS ID JUR from order</td>

<td></td>

</tr>

<tr>
<td>cxIRejResponseTo</td>
<td>String</td>
<td>N</td>
<td>IERIEBEIN LR </td >
<td>434</td>

</tr>

<tr>
<td>cxIRejReason</td>
<td>String</td>
<td>N</td>

<td > {ERIELRRE < /td >
<td>102</td>

</tr>

<tr>
<td>currentNodelD</td>
<td>String</td>
<td>Y</td>
<td>ZICRFIBHIRZREFE TR ID tmR for Dzl </td>
<td></td>

</tr>

<tr>

<td>createdAt</td>
<td>datetime</td>
<td>Y</td>

<td>BlIEEAT[E) </td >
<td></td>

</tr>

<tr>

<td>refStrTag1</td>
<td>String</td>
<td>N</td>

<td>¥ & Str =E& </td>
<td></td>

</tr>

<tr>

<td>refStrTag2</td>
<td>String</td>
<td>N</td>

<td>¥ & Str ==& 2</td>
<td></td>

</tr>

</tbody>

</table>

<p>ME—=EHE: cxlOrderlD<br>
H—MZR5|: tradingAccountID + clOrdID</p>

<h3 id="=-1TEREUWEER"> = TR EIEREL </h3>

<h4 id="#@REIRIT--" > EUREMIRIT </hd>
<table>

<thead>

<tr>
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<th>=EZ</th>
<th>2£8Y</th>
<th>WtE</th>
<th>#giR</th>
<th>FIX5.0</th>

</tr>

</thead>

<tbody>

<tr>

<td>orderID</td>
<td>String</td>
<td>Y</td>

<td>1JE ID</td>
<td>37</td>

</tr>

<tr>

<td>execType</td>
<td>String</td>
<td>Y</td>

<td >R TSEEL: A-PendingNew,0-New,F-Trade;6-PendingCancel,4-Canceled;8-Rejected;5
1-CancelRejected </td >
<td>150</td>

</tr>

<tr>

<td>execlD</td>
<td>String</td>
<td>Y</td>
<td>HATEHRE—RS </td>
<td>17</td>

</tr>

<tr>

<td>sequence</td>
<td>double</td>
<td>Y</td>
<td>HBHZTRERRERNZEHIRXFS, ™M 0 FFigiBiE</td>
<td></td>

</tr>

<tr>

<td>userID</td>
<td>String</td>
<td>Y</td>

<td>FrERAF & from order</td>
<td></td>

</tr>

<tr>
<td>tradingAccountID </td>
<td>String</td>
<td>Y</td>
<td>FriBRAFPIARZZK, &k from order</td>
<td></td>

</tr>

<tr>

<td>clOrdID</td>
<td>String</td>
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<td>Y</td>

<td> TEEHREIFEKFRY 11</td>
<td>11</td>

</tr>

<tr>
<td>exchangeOrdID</td>
<td>String</td>
<td>N</td>

<td>1IZIRX BT R TR Z AT SRS ID Jusk from order</td>
<td></td>

</tr>

<tr>

<td>lastQty</td>
<td>double</td>
<td>Y</td>
<td>ZIRAAEE </td>
<td>32</td>

</tr>

<tr>

<td>lastPx</td>
<td>double</td>
<td>Y</td>

<td> RN < /td>
<td>31</td>

</tr>

<tr>
<td>cumQty</td>
<td>double</td>
<td>Y</td>

<td> Rt E </td>
<td>14</td>

</tr>

<tr>

<td>cxIQty</td>
<td>double</td>
<td>Y</td>
<td>EpkEE </td>
<td>84</td>

</tr>

<tr>
<td>leavesQty</td>
<td>double</td>
<td>Y</td>
<td>fEiEEE </td>
<td>151</td>

</tr>

<tr>
<td>transactTime</td>
<td>datetime</td>
<td>Y</td>

<td> ZIRIRSTA LAY E] < /td >
<td>60</td>

</tr>

<tr>
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<td>ordStatus</td>
<td>String</td>
<td>Y</td>

<td>TTERZ: A-PendingNew, 0-New,

ncel; 4-Cancelled</td>
<td>39</td>

</tr>

<tr>
<td>securitylD</td >
<td>String</td>
<td>Y</td>
<td>IEHES </td>
<td>48</td>

</tr>

<tr>
<td>securityExchange</td>
<td>String</td>
<td>Y</td>
<td>ZRZZFrAS </td>
<td>207</td>

</tr>

<tr>

<td>side</td>
<td>String</td>
<td>Y</td>
<td>3EsE75[ME </td>
<td>54</td>

</tr>

<tr>
<td>orderQty</td>
<td>double</td>
<td>Y</td>
<td>FIEHE </td>
<td>38</td>

</tr>

<tr>
<td>price</td>
<td>double</td>
<td>Y</td>
<td>ZFHEM& < /td>
<td>44</td>

</tr>

<tr>
<td>tradeDate</td>
<td>String</td>
<td>Y</td>
<td>ZZZHEA</td>
<td>75</td>

</tr>

<tr>
<td>ordRejReason</td>
<td>String</td>
<td>N</td>

<td>TTERfEAE/RIESEAL . 102-IE55FhE

1-PartiallyFilled, 2-Filled; 8-Rejected; 6-PendingC

</td>
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<td>103</td>

</tr>

<tr>
<td>ordRejReasonDesc</td >
<td>String</td>
<td>N</td>
<td>1TBIEEREE < /td>
<td>58</td>

</tr>

<tr>
<td>cxIRejResponseTo</td>
<td>String</td>
<td>N</td>

<td > fEatELamEI N SEEY < /td >
<td>434</td>

</tr>

<tr>
<td>cxIRejReason</td>
<td>String</td>
<td>N</td>
<td>EEREaRE < /td >
<td>102</td>

</tr>

<tr>
<td>currentNodelD</td>
<td>String</td>
<td>Y</td>
<td>ZIERTERNRZEF TR ID xR for 9= </td>
<td></td>

</tr>

<tr>

<td>createdAt</td>
<td>datetime</td>
<td>Y</td>

<td>BlgEAt(a) < /td >
<td></td>

</tr>

</tbody>

</table>

<p>Me—=F#: orderlD + execType + execlD</p>
<h3 id="[U-BEPEASEIEER" >N, ZERESEHIEER</h3>
<h4 id="EIRENZIT---" > BURLEEIRIT </hd>
<table>

<thead>

<tr>

<th>=xE&</th>
<th>#8</th>

<th> &< /th>
<th>#A</th>
<th>FIX5.0</th>

</tr>

</thead>

<tbody>

<tr>
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<td>tradingAccountID</td>
<td>String</td>
<td>Y</td>
<td>1ZBREMF ID</td>
<td></td>

</tr>

<tr>

<td>currency</td>
<td>String</td>
<td>Y</td>
<td>IZBEEMWFHR</td>
<td>15</td>

</tr>

<tr>
<td>initAmount</td>
<td>double</td>

<td>Y</td>

<td>HI¥IEEN: BYadE = Bi—RXZEREM], AT </td>
<td></td>

</tr>

<tr>

<td>holdingAmount</td>

<td>double</td>

<td>Y</td>

<td>YFILE: MRS ALEZS], holdingAmount= holdingAmount+ amount (BIEfa) - abs(
mount) * (commission +stamp)</td>

<td></td>

</tr>

<tr>

<td>tradableAmount</td>

<td>double</td>

<td>Y</td>

<td>TBEE(EFE BELBEEM, MZFERIIMNOEFERMA: holdingAmount -(TEIELEET
+ RS + MELEER) - RIDAESM + RIHRFAEE) =) MzaXNPnEZRARIEZ]
WEEBHZAITEZE, BYNIINETRAZRER get ZEMEEIIANEINZIZITEAITEH
B! | | BRIZFRERFZEREFZANEARAE, BEASERVEN T XREIERRE
GFERISERY; REMWINERIESEHEENE—ERYRZERFZRINE,; SARUNNIMERS
EERREISRIIGEE S BENE,; £kaEdEnk, NXIINERSEIEREFIVESEINRSCARM D
DEBRYE, RXESE5LFRARIBBERD AY S B EIE A Ih < /td >

<td></td>

</tr>

<tr>

<td>endAmount</td>

<td>double</td>

<td>Y</td>

<td>HIREEN == HFiEEi</td>

<td></td>

</tr>

<tr>

<td>intradayBoughtAmount</td>

<td>double</td>

<td>Y</td>
<td>HHLNEREE</td>
<td></td>
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</tr>

<tr>
<td>intradayEffectiveEntrustBuyAmount</td>
<td>double</td>

<td>Y</td>

<td>HPAINEN (BSHBEZFREIROASH) FEemm:

SRR (R AT KTEFET RN </td>
<td></td>

</tr>

<tr>

<td>intradaySoldAmount</td>
<td>double</td>

<td>Y</td>
<td>HHSEHAREE</td>
<td></td>

</tr>

<tr>

<td>intradayEffectiveEntrustSellAmount</td>
<td>double</td>
<td>Y</td>

<td>ZHAZHAN (XSHBYZFREIRGAEM) FEEE:

ERNR(BEAZIEMINTFTREMN) </td>
<td></td>

</tr>

<tr>
<td>intradayBoughtCommission</td >
<td>double</td>

<td>Y</td>
<td>ZHHELARFEE </td>
<td></td>

</tr>

<tr>

<td>intradayEffectiveEntrustBuyCommission</td>
<td>double</td>

<td>Y</td>

<td>Z&{IF intradayEffectiveEntrustBuyAmount) </td >
<td></td>

</tr>

<tr>

<td>intradaySoldCommission</td>
<td>double</td>

<td>Y</td>
<td>HHEHAIAE </td>
<td></td>

</tr>

<tr>

<td>intradayEffectiveEntrustSellCommission</td>
<td>double</td>

<td>Y</td>

<td>Z&{1F intradayEffectiveEntrustSellAmount</td >
<td></td>

</tr>

<tr>

<td>intradayBoughtStamp</td>

RN, FRERMURE, fBRRiR

FIRNUAN, FREAMR, BN
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<td>double</td>

<td>Y</td>
<td>HHLNRAEDER < /td >
<td></td>

</tr>

<tr>

<td>intradayEffectiveEntrustBuyStamp</td>
<td>double</td>

<td>Y</td>

<td>Z&{l1F intradayEffectiveEntrustBuyAmount</td>
<td></td>

</tr>

<tr>

<td>intradaySoldStamp</td>

<td>double</td>

<td>Y</td>
<td>ZHHSEHpIEN TR </td >
<td></td>

</tr>

<tr>

<td>intradayEffectiveEntrustSellStamp </td>
<td>double</td>

<td>Y</td>

<td>Z&{IF intradayEffectiveEntrustSellAmount </td >
<td></td>

</tr>

<tr>

<td>freezedAmount</td>

<td>double</td>

<td>Y</td>

<td>RINFAEEE: REGRGERINZBEF TR </td>
<td></td>

</tr>

<tr>

<td>unfreezeAmount</td>

<td>double</td>

<td>Y</td>

<td>ZRIHRESET: RIEFRERKNZEHTIBR</td>

<td></td>

</tr>

<tr>

<td>createdAt</td>

<td>datetime</td>

<td>Y</td>

<td>BlEER A </td >

<td></td>

</tr>

</tbody>

</table>

<p>ME—=EHE: tradingAccountID+ currency</p>

<h4 id="¢UHAREMEATH-">TWHA KT </h4>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> double showTradableAmount() {

</span> </span><span class="highlight-line"> <span class="highlight-cl"> return getHo
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dingAmount() + getUnfreezeAmount() - getFreezedAmount)

</span></span><span class="highlight-line"> <span class="highlight-cl"> - (getintrada
EntrustBuyAmount() - getintradayBoughtAmount())

</span></span><span class="highlight-line"> <span class="highlight-cl"> - (getintrada
EntrustBuyComission() - getintradayBoughtCommission())

</span> </span><span class="highlight-line"> <span class="highlight-cl"> - (getIntrada

EntrustBuyStamp() - getintradayBoughtStamp());

</span></span><span class="highlight-line"> <span class="highlight-c|"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-c|"> void updateTra
ableAmount() {

</span> </span><span class="highlight-line"> <span class="highlight-cl"> setTradable
mount(showTradableAmount());

</span></span><span class="highlight-line"> <span class="highlight-c|"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> boolean check(
ouble amount, double commission, double stamp) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> double holdi
gAmountTemp = getHoldingAmount() + amount - commission - stamp;
</span></span><span class="highlight-line"> <span class="highlight-cl"> double trada
leAmountTemp = holdingAmountTemp + getUnfreezeAmount() - getFreezedAmount()
</span></span><span class="highlight-line"> <span class="highlight-cl"> - (getintrada
EntrustBuyAmount() - getintradayBoughtAmount())

</span> </span><span class="highlight-line"> <span class="highlight-cl"> - (getIntrada
EntrustBuyComission() - getintradayBoughtCommission())

</span></span><span class="highlight-line"> <span class="highlight-cl"> - (getint
adayEntrustBuyStamp() - getintradayBoughtStamp()));

</span></span><span class="highlight-line"> <span class="highlight-cl"> return holdin

AmountTemp &gt;= 0 &amp;&amp; tradableAmountTemp &gt;= 0;

</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">

</span> </span><span class="highlight-line"> <span class="highlight-cl"> void triggerByF
ows(FlowsBizType type, double amount, double commission, double stamp) {
</span></span><span class="highlight-line"> <span class="highlight-cl"> switch (type)

</span> </span><span class="highlight-line"> <span class="highlight-cl"> case Freeze
mount:

</span></span><span class="highlight-line"> <span class="highlight-cl"> setFreezedA
ount(getFreezedAmount() + amount);

</span></span><span class="highlight-line"> <span class="highlight-cl"> updatelntrad
yAmount();

</span> </span><span class="highlight-line"> <span class="highlight-cl"> break;
</span></span><span class="highlight-line"> <span class="highlight-cl"> case UnFreez
Amount:

</span></span><span class="highlight-line"> <span class="highlight-cl"> setUnFreeze
Amount(getUnFreezedAmount() + amount);

</span></span><span class="highlight-line"> <span class="highlight-cl"> updatelntrad
yAmount();

</span></span><span class="highlight-line"> <span class="highlight-cl"> break;
</span></span><span class="highlight-line"> <span class="highlight-cl"> case Sell:
</span></span><span class="highlight-line"> <span class="highlight-cl"> case Amo
ntincrease:

</span></span><span class="highlight-line"> <span class="highlight-cl|"> case Buy:
</span> </span><span class="highlight-line"> <span class="highlight-cl"> case Amo
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ntDecrease:

</span></span><span class="highlight-line"> <span class="highlight-cl"> setHold
ngAmount(getHoldingAmount() + amount - stamp- commission);

</span></span><span class="highlight-line"> <span class="highlight-cl"> setEnd
mount(getHoldingAmount());

</span> </span><span class="highlight-line"> <span class="highlight-cl"> if (type.
quals(WarrantBuy)) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> setint
adayBoughtAmount(getintradayBoughtAmount() - amount);

</span></span><span class="highlight-line"> <span class="highlight-cl"> setint
adayBoughtCommission(getintradayBoughtCommission() + commission);

</span> </span><span class="highlight-line"> <span class="highlight-cl"> setintrada
BoughtStamp(getintradayBoughtStamp() + stamp);

</span></span><span class="highlight-line"> <span class="highlight-cl"> } else if (
ype.equals(WarrantSell)) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> setint
adaySoldAmount(getintradaySoldAmount() + amount);

</span> </span><span class="highlight-line"> <span class="highlight-cl"> setint
adaySoldFeeCommission(getintradaySoldCommission() + commission);
</span></span><span class="highlight-line"> <span class="highlight-cl"> setintrada
SoldFeeStamp(getintradaySoldStamp() + stamp);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> updatel
tradayAmount();

</span></span><span class="highlight-line"> <span class="highlight-cl"> break;
</span></span><span class="highlight-line"> <span class="highlight-cl"> default:
</span></span><span class="highlight-line"> <span class="highlight-cl"> break;
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"><span class="highlight-cl"> }

</span></span></code> </pre>
<h3 id="H-BEFEHCHIERE">H. BEFREFCEUEREI</h3>
<h4 id="8UREEIZIT----" > BUBEIMIRIT </h4>
<table>

<thead>

<tr>

<th>=Eg</th>

<th>2£8Y</th>

<th>wiE</th>

<th>¥giA</th>

<th>FIX5.0</th>

</tr>

</thead>

<tbody>

<tr>

<td>tradingAccountID </td>
<td>String</td>

<td>Y</td>

<td>ZEEMF ID</td>
<td></td>

</tr>

<tr>

<td>securitylD</td>
<td>String</td>

<td>Y</td>
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<td >S5RS </td>
<td>48</td>

</tr>

<tr>
<td>securityExchange</td>
<td>String</td>
<td>Y</td>
<td>RZFFAAS </td >
<td>207</td>

</tr>

<tr>
<td>initQty</td>
<td>double</td>

<td>Y</td>

<td>Hp¥IIFG: B¥AHAET = BI—RSBEFRFE, AT </td>
<td></td>

</tr>

<tr>

<td>holdingQty</td>

<td>double</td>

<td>Y</td>

<td>YEHFE: BRAT A4S, holdingQty= holdingQty + quantity (/Z275EM-quantity) </
d>

<td></td>

</tr>

<tr>

<td>tradableQty</td>

<td>double</td>

<td>Y</td>

<td>AEIFCERE TROERFE, WZFBRXIIMNESFIE/RMA: holdingQty - FEGEEE -
THAREHE + BIHRANE) =) Az P NERAETNIIFERTZATITRZE, BXY
E?K%déﬁé get ZEMEEE INETANZZITEATITEHTER! | | RMUFTASR</td>
<td></td>

</tr>

<tr>

<td>endQty</td>

<td>double</td>

<td>Y</td>

<td>HIRIFC == SRiFHe</td>

<td></td>

</tr>

<tr>

<td>intradayBoughtQty</td>

<td>double</td>

<td>Y</td>
<td>HHFENIEE </td>
<td></td>

</tr>

<tr>

<td>intradayEffectiveEntrustBuyQty</td >

<td>double</td>

<td>Y</td>

<td> SEENGHETRE: SRUM, EER, BER, SR (ESSER 0 B -orderQ
y+cumQty = 0) </td>
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<td></td>

</tr>

<tr>
<td>intradaySoldQty</td>
<td>double</td>

<td>Y</td>
<td>ZHHSEHAEE </td>
<td></td>

</tr>

<tr>

<td>intradayEffectiveEntrustSellQty </td >

<td>double</td>

<td>Y</td>

<td>ZHHARHENEIENE . R0, ERENE, BeiiRk, £RlE (HsEEiR 0 EJ9 -orderQ
y+cumQty = 0) </td>

<td></td>

</tr>

<tr>

<td>freezedQty</td>

<td>double</td>

<td>Y</td>

<td>RIHASHE: RIEFERKNZEH TR </td>

<td></td>

</tr>

<tr>

<td>unfreezeQty</td>

<td>double</td>

<td>Y</td>

<td>RIHRFHNE: RIBARERKNZEHTIER</td>

<td></td>

</tr>

<tr>

<td>createdAt</td>

<td>datetime</td>

<td>Y</td>

<td> Bl E </td >

<td></td>

</tr>

</tbody>

</table>

<p>ME—=FEHE: tradingAccountID+ securitylD + securityExchange</p>
<h4 id="gUERREIEITH--">THRKEIEI T </hd>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> double showTradableQty() {

</span></span><span class="highlight-line"> <span class="highlight-cl"> return getHo
dingQty() + getUnfreezeQty() - getFreezedQty()

</span></span><span class="highlight-line"> <span class="highlight-cl|"> - (getIntrada
EntrustSellQty() - getintradaySoldQty());

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-c|"> void updateTra
ableQty() {

</span></span><span class="highlight-line"> <span class="highlight-cl|"> setTradableQ

y(showTradableQty());
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</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> boolean check(
ouble quantity) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> double holdi
gQtyTemp = getHoldingQty() + quantity ({RIELSZHNR);

</span></span><span class="highlight-line"> <span class="highlight-cl"> double trada
leQtyTemp = holdingQtyTemp + getUnfreezeQty() - getFreezedQty()
</span></span><span class="highlight-line"> <span class="highlight-cl"> - (getintrada
EntrustSellQty() - getintradaySoldQty());

</span></span><span class="highlight-line"> <span class="highlight-cl"> return holdin
QtyTemp &gt;= 0 &amp;&amp; tradableQtyTemp &gt;= 0;

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line" > <span class="highlight-c|"> void triggerByF
ows(FlowsBizType type, double quantity) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> switch (type)
</span></span><span class="highlight-line"> <span class="highlight-cl"> case Buy:
</span></span><span class="highlight-line"> <span class="highlight-cl"> case Qtyln
rease:

</span></span><span class="highlight-line"> <span class="highlight-cl"> setHold
ngQty(getHoldingQty() + quantity);

</span></span><span class="highlight-line"><span class="highlight-cl"> setEndQ
y(getHoldingQty());

</span></span><span class="highlight-line"> <span class="highlight-cl"> if (type.
quals(FlowsBizType.WarrantBuy)) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> setint
adayBoughtQty(getintradayBoughtQty() + quantity);

</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> updatel
tradayQty();

</span></span><span class="highlight-line"> <span class="highlight-cl"> break;
</span></span><span class="highlight-line"> <span class="highlight-cl"> case Sell:
</span></span><span class="highlight-line"> <span class="highlight-cl|"> case QtyD
crease:

</span></span><span class="highlight-line"> <span class="highlight-cl"> setHold
ngQty(getHoldingQty() - quantity);

</span></span><span class="highlight-line"> <span class="highlight-cl"> setEndQ
y(getHoldingQty());

</span></span><span class="highlight-line"> <span class="highlight-cl|"> if (type.
quals(FlowsBizType.WarrantSell)) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> setint
adaySoldQty(getintradaySoldQty() + quantity);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> updatel
tradayQty();

</span></span><span class="highlight-line"> <span class="highlight-cl"> break;
</span></span><span class="highlight-line"> <span class="highlight-cl"> case FreezeQ
y:

</span></span><span class="highlight-line"> <span class="highlight-cl"> setFreezedQt
(getFreezedQty() + quantity);

</span></span><span class="highlight-line"> <span class="highlight-cl"> updateTrada

leQty();
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</span></span><span class="highlight-line"> <span class="highlight-cl"> break;

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span></code></pre>
<h3 id="/\-REFCLNKEIERE" >78. BEFCTAKEUEREE </h3>
<h4 id="¥REMEIRIT-----" > BUBREEIZIT </hd>
<table>

<thead>

<tr>

<th>=Eg</th>

<th>2£8Y</th>

<th>wdE</th>

<th>#giR</th>

<th>FIX5.0</th>

</tr>

</thead>

<tbody>

<tr>

<td>tradingAccountID </td>

<td>String</td>

<td>Y</td>

<td>1ZZEMF ID</td>

<td></td>

</tr>

<tr>

<td>flowID</td>

<td>String</td>

<td>Y</td>

<td>iE7K ID</td>

<td></td>

</tr>

<tr>

<td>tradeDate</td>

<td>String</td>

<td>Y</td>

<td>HKEtARIEER </td>

<td>75</td>

</tr>

<tr>

<td>bizType</td>

<td>String</td>

<td>Y</td>

<td>AKREY: SEN; £, BSEM, B2RD,; HEEM, HeR), KERE, MEES,;
ZEHe, BIKTFE</td>

<td></td>

</span></span><span class="highlight-line"> <span class="highlight-cl"> case UnFreez
Qty:
</span></span><span class="highlight-line"> <span class="highlight-cl"> setUnFreeze
Qty(getUnFreezedQty() + quantity);
</span> </span><span class="highlight-line"> <span class="highlight-cl"> updateTrada
leQty();
</span></span><span class="highlight-line"> <span class="highlight-cl"> break;
</span></span><span class="highlight-line"> <span class="highlight-cl"> default:
</span></span><span class="highlight-line"> <span class="highlight-cl"> break;

>

>
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</tr>

<tr>

<td>securitylD</td >
<td>String</td>
<td>Y</td>

<td>IEHES </td>
<td>48</td>

</tr>

<tr>
<td>securityExchange</td>
<td>String</td>
<td>Y</td>
<td>ZRZZFrAS </td>
<td>207</td>

</tr>

<tr>
<td>variableValue</td>
<td>double</td>
<td>Y</td>

<td>T(E, BUEXHE, KFEFTF 0: ISERTAZIRMREE;
M, FOIERIREMRIRI AR EE </td>
<td></td>

</tr>

<tr>

<td>orderID</td>
<td>String</td>
<td>N</td>

<td>3SCSERT 1T8R ID</td>
<td>37</td>

</tr>

<tr>

<td>execlD</td>
<td>String</td>
<td>N</td>

<td>3LEERY PUTEHRIE—RS </td>
<td>17</td>

</tr>

<tr>

<td>lastPx</td>
<td>double</td>
<td>N</td>

<td>3ESERY 2R </td >
<td>31</td>

</tr>

<tr>

<td>orderQty</td>
<td>double</td>
<td>N</td>

<td>SCEERY FIEHE </td>
<td>38</td>

</tr>

<tr>

<td>price</td>
<td>double</td>

REIRRIIRERRRRT A =R
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<td>N</td>

<td>SESERt ZHEMTE</td>

<td>44</td>

</tr>

<tr>

<td>commission</td>

<td>double</td>

<td>N</td>

<td>SCSERY A </td>

<td></td>

</tr>

<tr>

<td>stamp</td>

<td>double</td>

<td>N</td>

<td>SCSERT EpfEfd </td>

<td></td>

</tr>

<tr>

<td>currentNodelD</td>

<td>String</td>

<td>Y</td>

<td>ZICRFIBHIIRZRF TR ID fmR for ofmzl</td>

<td></td>

</tr>

<tr>

<td>createdAt</td>

<td>datetime</td>

<td>Y</td>

<td>GUEhta) </td >

<td></td>

</tr>

</tbody>

</table>

<h3 id="References">References</h3>

<ul>

<li><a href="https://Id246.com/forward?goto=http%3A%2F%2Fwww.quickfixengine.org%2FF
X50.html" target="_blank" rel="nofollow ugc">http://www.quickfixengine.org/FIX50.html</a
</li>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.onixs.biz%2Ffix-dictio
ary%2F5.0.SP2%2Findex.html" target="_blank" rel="nofollow ugc">https://www.onixs.biz/fix-
ictionary/5.0.SP2/index.html</a> </li>

<li> (IS ZEARMEIN) - STEP 20050325 </li>

</ul>

<h3id="TODO">TODO</h3>

<ul>

<li>FF& FIX5.0 A0 TR, B, 84, RO EORI </li>
<li>E7F h2database XRERFEIREFAIN ETTREERFTSLM </li>
<li>BRATREEER Sz </li>

</ul>
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